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B. Com. (Sem. II) (CBCS) Examination
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Mathematics - 1II
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ENGLISH VERSION

Instructions : (1) Give answer of Q. 1 (MCQ) in your answer sheet.
(2) Marks are indicated on right side.

1 MCQ.: 20
3 -1
(1) State the value of | 47
A 71 B) 75
©) 25 O 17
4x+1
@ It ’l“ 120 then x=
A 0 B
€ 3 O 1
x+y x|
(3) y xX+y e
A) 242 B) ¥ _,?
©) x2—y2+xy ) x2+y2+xy
3 0 -1
4) The order of 23 4 s
5 6 7
A) 2x3 B) 3x2
C) 2x2 D) 3x3
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(5) If all the elements of a given matrix are zero, then it

1s called

(A) Scalar matrix
(B) Skew matrix
(C) Row matrix

(D) Null matrix

6) If Ais a square matrix and 4'=A4 then A matrix 1is

known as

(A) Skew matrix

(B) Unit matrix

(C) Symmetric matrix
(D) Inverse matrix

(7) If order of matrix A is 2x3 and order of matrix B is 3x3,

then order of matrix AB is

(A) 3x2 B) 3x3
(C) 2x3 D) 2x2

(8 Value of determinant of a unit matrix is

@ -1 @) 0
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@A 8 B) 12
© 10 D) 11
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2 (a If A:B ﬂ, then find A+A'+A_l. 5
0
b)) If A:{ } B:{ } and ABC:{ } then 5
find matrix B and C.
3 (@) Write the rules of determinants. 5
() Prove that : 5
2 2 2
(x=1)7 (=17 (-1)
1 1 1 :(x—y)(y—z)(z—x)
x+1 y+1 z+1
OR
3  Solve using Cramer's rule : 10
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4  Attempt any two : 10
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Integrate w.r. to x : (any two)
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